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e e - sy | % B | BEuE
T

av o) —rkR 1.1m*2+24m*2 m 50.2 50
T A7 LI (E AR |0.2%0.2%2 m 0.08 0.08
ANATEAT A7V NEHEERR) 0.2%0.2%2%0.05(t=0.05) m3 0.004 0.004
R IE - m3 0.004
EE R 1.1%24m(15ecm% 4B A 35em A F . BEMETE. #HRE) | m2 26.40 26
EE R 1.1%24m(10em&#B A 15em A T BEMETE. R G | m2 26.40 26
R IE - 1.1%24%0.5 m3 13.20 13
BEMEYIHLT 0.12%0.12%12m(#b S ER T OvHA) m3 017 0.1
R IE - m3 0.1
1EHI 0.40%0.5%12m m3 2.40 2.0
AATER m3 2.0
TREER m3 2.0

5IFLT
SIFSRET m 12 12
L—ILERET m 24 24
ERBRET 1.1%10(t=150) m2/10m 1.0 11
#HLaryy—rxT 1.1%0.05%10 m3/10m 0.55 05
SET ((1.1-0.1)*40A+(10-0.1)*52)*0.56 ke/10m 50.1 50
avy—+rT 1.1%0.3%10(24-8-40 BB W/C =60%) m3/10m 3.3 30
Bk ET (t=10mm) m2/10m 0.30 0.3
MHEE = 1 1

mT
FhEEMBET(EFIA) m 6 6
ERIOVvIRUVEZHRBET m/100m 100 100
TV ABET m/100m 100 100
FHEEMEET m 6 6
EFEJnvoET m/100m 100 100
BIERET X 3 3
BEMEYIHLT 0.33*0.33%0.25%1 4 m3/A& 0.027 0.02
OBk - I THEEAR LR T D (0.18%0.18%0.45+3{E)+ 3 1 (0.3340.33+0.25%3%) | m3 0.13 0.1
PhEEMERE T(FEFIMA) m 6 6
EFInvIBRET m/100m 100 100
JIVRBETL m/100m 100 100
FHEEMERE T (0.2+0.52+0.3)%2 m 2.04 2.0

RISy T BT

VS P i) 6mx*11.8kg/m(~E —H3) t 0.071 0.07
A5y F(ELL) 3ZA*20.6kg( AT LR) t 0.062 0.06

gL
aVH—rEET W0.4%L12 m2 48 4
HEBBRAETLT (t=250mm) m2/10m2 10.0 10
avy—+rT 0.25%10m2(gfl 114.5-2.5-40 BB W/C = 60%) m3/10m2 25 2
Bk ET (t=10mm) m2/10m2 0.25 0.2




